CLASS 12

INTEGRALS

INTEGRATION BY PARTS
EXERCISE

Integrate x2x.

(A) e: (x—%}rc

e2x

(©) - (@x-D+C

Determine J.7 log Xexdx .

(A) %(Iogx—x)+C

(© %(x2 logx —x)+C

Integrate (x? + 9)e®*.

e

(© ;X (xz +x—%j+c
Integrate I log x°dx .

(A) logx*+x+C

(C) xlogx*-1+C

Integrate 2Xsin 2x .

A) sin 2x +xcos2x+C

2

© cos 2x —Xcos2x+C

2

er

(B) —-(2x-1)+C

e2x

(D) 1 (x+1)+C

(B) —%(x2 logx —x*)+C

(D) (x*logx +x)+C

e2x
B
(B) >
’ 25

(D) %(x +x—7

(B) 2xlogx*—2x+C

(D) xlogx®*+x+C

(B) S|n22x —cos2x+C

(D) 5|n22x —xcos2x+C
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Integrate 3sec” x log (tan x)dx .
(A) -log (tan x) (tanx-1) +C
(C) tanx (log (tan x) -1) + C

Solve le log x —x°dX .

10x3( x®
A x“logx—— |+C
2 1o

10x3( x°
C) - x“logx—— [+C
© -2 g%

Determine j 2x%* dx.
(A) € (x*+2)+C

(C) 26°° (x*+1)+C

Integrate 5xsin 3x.

(A) —gx0053x+gtan3x+c

(C) xcos3x +gsin 3x+C

Find jsin x log (cos x) dx.
(A) cosx(log(sinx)—-1)+C

(C) cosx(log(cosx)+1)+C

(B) log (tan x) (secx+1) +C
(D) tan x (log (secx) +1) +C

10x3 x3
B logx—— [+C
02 e 2.

(D) [x3 log x—%s}tc

(B) &X' (x*~1)+C

(D) e (x-1)+C

(B) %xcos3x—gtan3x+c

(D) —%xcosSx +gsin 3x+C

(B) sinx(log(cosx)+1)+C

(D) cosx(log(cosx)-1)+C

ANSWER KEY
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